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No. of Questions /wyai &1 @@ : 100

Time /@54 ; 2 Hours /9% Full Marks /quis : 300

Note :

1)

12)

Attempt as many questions as you can. Each question carries 3 marks.

One mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question.
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If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

;ﬂmﬁmﬂﬁﬁhmmmiﬂﬂmmmmmm
|

1. In Manusmriti, HoW many attributes of religion has been described?

(168)

(1) Three  [2) Five (3] Ten

(4) Sixteen

mE 4 u % e wel w0 e e o b

(1) o

12 ul= (3 @ 4) Treie

(P.T.0)
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2,

(168)

The keynote of Indian History is

(1) unity in diversity (2) ability for assimilation
3 religious tolerance (4) All of these

T e w1 - R

(1) fafoen 4w (2) wrfior i e

(3) =i affmgen (4) 7 B R

The chief impact of the Vedic Culture on Indian History was
(1) progress of philosophy and religion
(2} rise of other-worldly’ outlook
{3} consoclidation of caste system
(4) growth of Sanskrit literature
A deph w wwdm gfeE wTE e 9
(1) &7 i o i (2) vo-fresia gfwm w1 3
(@) s s g (4) wEa iR i FiG
Upanishad preached
(A)Tap (B)Gyan (C)Karma (D) Bhakt

the correct answer from the following code
(2) (B} and (C) (3) (B} and (D}  (4) [A) and {C]

Choose

(1) (A) and (B)



(168)
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ey, Ivdm & R
AT BT  (C)F (D) whw

frafifas 52 & meem & wd 35 g
mamm edwRe @e ko @

In democracy, on whom sovereignty vests?

(1) Parlilament {2) President

(3] Prime Minster i4) Public

#waa A yqEm el Bl w22

(1) wwe # (2) Tgufa & @) R d () R
Purposeful behaviour is called

(1) social relationship (2) social event

(3] action (4} actvity

St AR W wE

(1} Wrfsd FHEy (2) Wewi s @) firm (4] TR

The principle which is true in Buddhism, but nat true in Jain:
amism is

(1} life is full of suffering

(€] belief in God is not necessary

|3) Yajnas are useless

[4) Vedas are not infallible

P.T0/
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(168)

(1) e @i & wo B (2) S H fowamg smEww T 2
(3) a3 frefs § (4) ¥ w7 g

The salient feature of Vedic Civilization was the worship of

(1} Nature (2) Mother Goddess

(3) Trinity (4) Pashupati

dTew WA # WE e 6

(1) fa % (2) 2w w g

(3) Fds e A g (4) TR g

The castc system during the Early Vedic Age
(1) did not prohibit interdining and intermarriages
(2) prohibited interdining and intermarriages
(3) prohibited only interdining but not intermarriages
(4) prohibited only intermarriages bul not interdining

(3)
H]mﬁmmﬁﬁﬂmmﬂmﬁiﬂﬂﬂ
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10. Ashoka has been regarded as a Great Emperor because

11.

(168)

(1) he was an innovator in administration

(2) he attempted to form an integrated Indian society
(2) he was Great Conqueror

4] he was a public loving Emperor

W F TG TR FE AN R, wE

(1) 98 yomA # Fawad®s o

[2) 3 U TR IR T % bl R
(3) 78 W fasa @

(4) 98 Fat@ wawE @

The chief characteristic of the administration of Gupta Rulers was
(I} creation of many new high offices

{2} well-organized bureaucracy

(3] decentralization -

[4) centralization

RIS & WES & SRE ) gEg fasar of

(1) 3% 75 7= wrtew & e

2) gemten siftal

(3) T

[4) S

PT.0,)
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12. Who was the First Indian Scholar treated Mathematics as a distinct subject?

{1} Aryabhatta (2) Brahmagupta

(3] Viiayanandini (4) Varahamihir

7 7wy fage O T TR F) o aem Rem & w0 A st fen
(1) smvg (2) WEH (3) Famaf=h (4) e

13. Kautilya's Arthashastra is a book on
{1} Economic relations
(2] Foreign Policy
(3} Duties of King
(4) Principles and practice of statecraft
e & o’ (e Gt
(1) anfdw wraa & (2) few A #
(3) T & FA @ [4]mmmﬁaﬁmqﬁmﬁ

14. Which social evil was conspicucusly absent during ancient India?

(1) Sati System {2} Pardah System

[3) Polygamy {4} Devdasi System

ﬁq_ﬂmmﬂmmﬁﬂmﬁ:qﬁﬁT

(1) & I (2) T we (3) wg-fame e (4) TEEE S

(168



15.

16.

(168)
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In ancient India, the term ‘Greater India’ implied
|1) territorial possessions abroad

(2) inclusion of foreign territory by conquest

(3) cultural expansion of India beyond its frontiers
(4) All of the above

THE vwm #, ‘owr wwe’ @ awgd W

(1) feet § 8% fEn 9 wie

(2) faeaht v=al m fosm wm = 3=F Wm0

(3] Hior= ® AW KA F WS TN

(4) 39w o

What was the new social practice during the Rajput Age?

(1) Child marriage
(2) Prostitution
(3) Sati system

(4) Jauhar (seif-immelation in a group)
UAYH el A A4 "l v w7 ot 7

(1) @ faare (2) Tty
(3) W S Hlijli{"'FEﬂ'Wh}

(P.T.0)
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17.

Shankaracharya’s Philosophy is based on
(1} Dualism {2) Monoism (3) Polytheism (4] Tantrikism
TiEEA 1 gyl s g

(1) &M m () MEER W (3) TeATAR W (4] AHEAE W

18. Thec Vijaya-Stambha or the Tower of Victory at Chittor was constructed by its

19.

20.

(168

Ruler

(1) Rana Pratap (2) Rana Sanga (Sangram Singh|
(3) Rana Kumbha (Kumbha.Karan) (4) Rana Hammir Dev

furfts % P wes 3 Rem-we e @ dER ST @

(1) TN WA (2) T wm (Fam fiE)

(3) T (F ) (4) Ton w29

Who among the following Saints sought integration of Hindus and Muslims?

(1) Kabir 2) Namdev
(3] Vallabhacharya (4) Madhavacharya
Affian & @ o €0 3 fieqel s gEewl B v § A w1 e fen
(1) FR (2) TR (3) AgaEw (4) W
Which country has first adopted the National Family Planning Programme in
the World?
(1) France (2) India (3) USA (4) England

8
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(168)
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fama ¥ fiem 2w 3 wn e Seam wEwe B EEE9d A9EE 7
(1) wE (2) wRd
[3]ﬂ‘gmmaﬁ'&m' (4) FrAvE

Which one is not the dominant principle of Social Justice?
(1) To each according to his right

{2} Ta each according to his expectations

{3) To each according to his desert [reward or punishment)

{4) To each according to his needs

i & F-u qEtw = = g Tl e
(1) werF # 36% AUFER F IFER

(2) Yo% %) I9H HUFH F AFER
[SJEﬁEﬁEﬁtaﬂ{Wmm}tm
(4) W% W IR FEEEAA] G ATAN

In India, as a structural subsystem, what is included in Kinship?

(1) Lincage (2) Clan (3) Famfty (4) All of the above

A H T WiEAeE 39 *
r S “imﬂ;mﬁﬁ?ﬁﬁﬁmm

(1) s (2) T (3) ovare ) it

(P.TO)
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23,

25.

(168)

According to Juvenile Justice Act, 1986, which of the following statements is
inappropriate in defining * Neglected Juvenile'?

(1) Lives in a brothel or with a prostitute

(2) Likely to be abused or exploited for immoral or llegal purposes
(3] Home truant and wonders aimlessly

(4) Found begging

fin = sifufem, 1986 % sEm ‘smdfen e Sodfenfe wS § oFR-m
TE A R

(1) o v § aeEn 9 & |5 w8

(0) Tomm At S w3 e @ e JgEl v B R
(3] M o A e wwn @ el Fegw gEm-feon @

4) < fuugfn § wfm 8

Which of the following programmes is not related with rural development?
S a4 8 FE-T o REw 8 et T R

(1) NRDWP (2} NLRMP {3) DWCRA (4) PMGSY

Sexual Harassment of Women at Work Place (Prevention, Prohibition and
Redress) Act was enforced in the year

ﬂﬁﬂﬁﬂiﬁﬂﬁmmm{ﬁﬁﬁﬂ,m@m}mﬁﬁmﬁma&
mﬁ?lga:rm?

1) 2012 (2) 2011 (3) 2010 [4) 2013

10
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26. Which Ministry has been implementing a scheme to run Treatment-cum-
Rehabilitation Centres for drug abuse through NGO's across the country?

(1) Ministry of Human Resource Development
{2} Ministry of Social Justice and Empowerment
(3) Ministry of Health & Family Welfare

{4} Ministry of Urban Development

AW THT Wodlloalle ¥ WO T nm =maf ¥ [o IR-TE-AEE S
AR # A Benfa = om A7

(1) wrE Fam fww e
(2) mfeE =mr e T gEew

(3) = W AR FRm tEEy
(4] i faFm TIem

Z7. Which of the following is not the Act against Child Labour?
1) Child Labour [Prohibition and Regulation) Act, 1085
2) Minimum Wages Act. 1948
(3] Contract Labour (Regulation and Abolition) Act, 1970
(4) The Children Act, 1960
ﬁnﬁﬂaﬁﬁﬁ-ﬁﬁﬁﬁmm“tﬁ@qﬁg?
mmm{nﬁ&q@‘ﬁﬁﬂm}ﬂﬁﬁm, 1986 -
(2) <[ wwghl afufam, 194
(3) &= m {ﬁﬁﬂﬂ?ﬂﬁﬂ?ﬂm_j.m_m
(4) &TE P, 10
{168) 1]
P.T.0}
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28.

29,

In which of the following condition, a wife may seek divorce from husband
according to Hindu Marriage Act, 1935 7

(1} Beats her off and on

(2) Lives away from home for a long period

(3) Meplects her

(4) Guilty of adultery

frofafiss # & fm am # oo fig Frame sififam, 1955 % g AW Wi ®

TaE T wE B

(1) 38 Ffi-mf) e @ iﬂjaﬁﬂmﬁﬂmﬂmiﬁl%
(3) e e ww @ (4) Tt # At @

What is the ultimate goal of Self-Help Groups (SHGs)?

(1) Loans (2) Savings (3) Insurance (4) Empowerment
AT W (wweudedto) F 3R WA

(1) T (2) =4 (3) (4) FETRAER

Which of the following has not been included in t.he Dbjmtsiv":ps of child
dmrl,:l.;-,pment under Integrated Child Development Services (ICDS)

Y Reducing death rate of children up to 6 years of age

(2) Giving gnancial support to NGOs for taking care of children

Organising aon-formal education prografmime

: nutrition of children
lng gdﬂuﬂ ma]-

(3)

(4} Reduc
12

(168)
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wifhd o fowm dmell & swin O Rem % ww § @ Y mine 3@ R
™ #7?

(1) 6 98 7% % =i & ey T F TN w0

(2) T F Teww % fm - W w Rl w0
(3) wftw=its fimn sriEd = A= w5

(4) &= & T FOE B W oFE

Which of the following legislations is not related with women?
11} The Special Marriage Act, 1954
(2] The Medical Termination of Pregnancy Act, 197]

[3] The Pre-natal Diagnostic Techniques [Regulation and Prevention of Misusc)
Act, 1994

(4] The Immoral Traffic (Prevention) Act, 1986

ﬁﬁfﬂﬁh‘ﬂﬁmﬁﬁﬁmmﬁfﬁmﬁa?ﬂﬂ
(1) faste fame wfafiam, 1954
{zjﬁmﬁﬁﬁﬂwmﬂﬁﬁm, 1971

3) we-1d fem oets (Rl T ZEEm F ) Afufrm, 1994
(4) s wwrw (P =fefam, 1936

Which is the best statement to achieve success in life?
{1} One should be well-educated g4 honest

(2] One should be rich and prosperoys

(3] One should have contact with influential persons
[4) One should be sincere and ho.q working

53
P.ro,
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(168)

9 § vew mw w ¥ fo oW waifE IWEE B R
(1) =8 ghifia s $aeeR @ =

(2) 38 wEm s TygEE g e

(3) o TEEE A @ w e e

(4) = wen PeEE ol S Sfenf @ e

In which year Central Social Welfare Board :ntroduced the scheme of Family
Counselling Centres (FCCs) ?

Wmmﬁiﬁmﬂimmﬁﬁﬁmﬁr w7

(1) 1985 2) 1984 (3) 1983 (4) 1082

What is not objective of National Population Policy?
(1) To bring the TFR to replacement levels by 2010
|2) To achieve a stable population by 2045

(3] To provide balance diet to people below poverty line
(4) To provide integrated service delivery for basic reproduction and child
healthcare

nﬂumﬂﬁim"&hﬂwqﬁ%?
(1) 2010 T AoTReI Ry w0 T
Q{J#Eﬁﬁ'{mmm

mrﬁﬂfﬂ{%?ﬁﬁiﬁﬂﬂﬂﬁmﬁﬁﬂﬂmm

v Iﬁﬂﬂﬁmmﬂw&%ﬁ%ﬁﬁrﬁmm
14



35.

37.

(168)
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The objectivity of social research can be enhanced through its

(1) impartiality  (2) reliability (3) validity (4) All of the above
amTfeE AqEeR & sgiEa § gig o - e R

(1) P gm (2) Freefimm g

(3) 3=m Tm (4) J9eE ot & T

In which method of sampling, each unit of study has equal opportunity to be
taken in study?

{1} Census method (2] Purposive sampling
(3) Quota sampling (4) Random sampling

ﬁfﬁﬁﬁmqﬁﬁmﬂmﬁmﬁnﬁmﬁhaﬁmmﬂm
¥ 7

() et agfe (o) RE fevlr @) P e (4) by fely

What does research mean?
(1) To explore new knowledge
(2) Tao verify old knowledge

(3] To fill the gap between knowledge
(4] All of the above

e H T awed &7
1) =R = A =@ w1 mwmﬂmm;@m
(3) 79 # #9 T W wEn (4) IR

15
F.1.0)
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38. Which of the following is not the step of social rescarch?
(1) Selection and delimitation of the problem
(2] Formulation of the hypothesis
[3) Preparation of tools and data collection

(4) Forecasting the events

fefefEd 4 8 #-m1 amfss wie = 9o 34 27
(1) |9 &1 99 T T

(2) vfew & fmin
(3) I AW FA I G (SATRST) Hehew
(4) T i wicegam
39, Which is not the secondary data in research?
(1) Data from Journals (2) Data from Reports
(3) Data from Website " {4) Date from respondants
gy i # i sfws T 2
(1) sl % st (2) e & g
(3) R % w (4) I & W SHES

40. Children of which age are protected by the Protection of Children from Sexual

Offences Act, 2012 (POCSQ}?

9
(1) Under 18 years (2) Under 15 years

(3) Under 12 years [4) Under 15 years

16
(168)
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42,

(168
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e s % ==l & A wmw & w= w0 gwwm aRufEm, 2012
(foaftotfionmosie) & g Tam wem-FEm = 27

(1) 18 =¥ & 9= 2) 15 a8 A ¥
3 zxfg : (4) 16 =f & =

Which ane of the following is not a social legislation?

(1) The Protection of Civil Rights Act

{2} The Hindu Marriage Act

(3] The Forest [Conservation) Act

(4] The Protection of Women from Domestic Violenee Act
fcferfim # & #-m s Ram o 27

(1) Fofm ofmr wvaw sifafam

(2} forg forem sifrfiram

(3) & (weor) sfirfem

(4) e e & afeensit = Fum sifm

National Award is not given?

1} Indira Gandhi ;
(1) Indira Gandhi {2) Rani Rudra Dey;

17
(P.T.0
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76 femm wfeen ®1 AW san s AW 3 e T qeen wde g T R

e By
(1) s wid (2) Tt v
(3) 2R e ad dew (4) mw St

43. Which one is not the aim of Rajiv Gandhi Scheme for Empowerment of
Adnlesrent Girla (RGSEAG) 7

(1) Empowering adolescent girls

(2} Improving nutritional and health status

(3) Improving social functioning/business profile

{4} Upgrading vocational skall
wamﬁﬁm%mmﬂmmwmﬂ&wwﬁ%
(FmofioTRogoUoHle ) ?

(1) Revitfeal =t FIE F

(2) TER @ @R R T

(3) vt Ser /SR # wEq Hl

H],mramﬁﬁrﬁ"mﬂﬂﬁ‘

44. Family is & groUFP of persons tied by

; (2] blead relations
1) marrage
. s (4} All of the three
(3) adopt

18
(168)
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ofiaw =frdl =1 oF wgE § 9 9 @
(1) fmm & (2) T " Ao
(3) sifiwor @ (4) I dH 8

45. Which ane of the following is not the attribute of modern economic system?

(1) Credit (2) Factory system

(3) Lack of competition (4) Market and exchange
Ffafan o 4 H-H amgfs sndoraren £ fdtem a9 @2

(1) 5@ (2) FEHAT JoTe

(%) whmrd =1 s (4) Fm = faf

46. What the learnt behaviour of an individual is called?

(1} Customs (2) Treditions  (3) Civilization  (4) Culnure
WE & i@ T R W o e 87
(1) wand (2) W (3] Begm (4) Teghy
47. Any element of the culture cannol be
(1) dysfunctional (2) funeuang]
(3] meaningful (4} purposive
(168) 19

PTo,
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(168)

welt & w7 99 6 v €
(1) ST (HEEH (2) WEETEE
(3) sl (4) Fvam

National Child Award is given to the children between the age of 4 to 15 years
for their exceptional achievements. In ‘Cold Medal Award’, what is not provided?

{1) A cash prize of Rs 20,000 (2) Free cxcursion for 15 days

[3) A citation and certificate (4) A Gold Medal

mitn W= pEeT a4 # maﬁaaaﬁaﬁaqﬁmmﬁﬁﬁilﬁmmﬁm
w81 ‘al vew qeeR # @ Al wem fEn w27

(1) 20,000 o T T3 TN @) 15 fedt =1 Raes wm

(3) fefa-ua @ wHE-T (4) 0 9EH

Rajiv Gandhi Manav Seva Award is gwen Lo honour individuals for their
outstanding contribution towards services for children. In which field of services

this award is not applicable?

(1) Development i2), Weiltar=

(3) Child protection (4) Child health

mmmmwﬁﬁﬁﬁﬁﬁﬁﬁwﬁm%hm
hm!rﬂm%ﬁmﬁﬂﬁﬂﬁmmﬁmmﬁ?

3) W W
I.“W (2) A |3 i (4) = HEEE
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50. What is the basic idea behind National Youth Festival?

51,

(1) National Integration (2) Spirit of communal harmony
(3) Courage and adventure (4) All of the three

TR I A & N9 qe faaw w7 |

(1) TR (2) FrgRiEE e i v

(3 ¥4 w wwEw (4) wet

Which of the following Acts is not related with disabled persons?
(1] The Mental Health Act, 1987

[2) The Rehabilitation Council of India Act, 1992

(3] The National Trust Act, 1999

(4} The Protection of Civil Rights Act, 1955

Refafes 4 3 s5-mr whﬁmﬁmaﬁﬁﬁm?ﬂ%?
(1) W mme sfofm, 1987

(2] 7 #1 gafE oftey mftdEs, 1090

(3) TEH 7w fEfEm, 1999

(4) fafem sifrm s sfifem, joss

Schedule Tribes are those who
(1) live in hilly and forest areas
(2} depend on natural forest wealth for existence

(3] belongs to a simple and free society

(4} are culturally different from ma;

N stream of soc; and )
in the Constitution Y 2nd have be includeg

2]
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53.

54.

(168)

Fgfa warfaal 4 &, @

(1) wergl affy sorelt # T R

(2| et T wea W e iy ol wE f
{Silﬁﬂﬁaﬂtgﬁmtﬁﬁn%
HJHiﬁ?ﬂﬁahmmﬁlaamﬁﬁa%sﬂw#&mﬁmﬁﬂﬁﬁn&#

Which one of the following does not fit as a social problem?

(1) Beggary (2) Mliteracy

(3) Drug addiction (4) Difference between rich and poor
mﬁﬁﬁﬂmﬁmﬁmm#mﬂmﬁm%?

(1) Frargfs (2) Frera

|3) WiEhEd =g {#inﬁﬂ’lamﬂﬁ%mﬂm

girl. Somebody asked his relationship with the girl. He

A man was £0ing with a
paternal uncles’. What

replied, “My paternal uncle is the paternal uncle of her
s the relationship between the man and the girl?

(1) Uncle and Niece

:.i'! Fathgr aﬂd Daughter

13) Miece and Maternal Uncle

(4} Erﬂthe.r-m-law and Sister-in-law

22
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TF A UF TEE & WM W W o9 F9 A A S 39 ol § ey F oA A
IH FEA FR, U AT @ e & oS @ % oumn £ 38 =fE ol wd
% de = W g7

(1) 9= # welish (2) T s o
(3) wisht st = (4) i it weh

You could not do well in your academic examinations, Your father advised you

to give up the studies and do something else. What will be the best for you to
do?

(1} Will insist the father to continue studies
(2) Will discontinue studies and join father's business
{3} Will try for some service or business

{4) Will continue study with greater interest and hard work ine in vi
convenience of father k”’ePlﬂE In view the

uaﬁmﬁaﬁaum:mﬂmﬁétﬁmammmﬁn
[2) == Sy TR = d ek

(3) 8 ¥ dwm @ fF1 & fm vy w=tm

(4) fren 1 3
EIET) ki mﬂﬁnmﬁmﬂhah‘ﬁh“mmﬂnmmnﬁzm

23
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56.

57.

58.

(168)

Which of the following is always with ‘Bargain?

(1} Eloquence (2) Sumptuousness
(3) Presentation . (4) Exchange
frafafas & 4 0 ‘B’ § w3 o s 7

(1) g (2) A /TR -Ti

(3) wegfa (4) Ffma

Which one of the following is not the objective of an NGO ?
(1) Reavurce enhancement (2) Awareness building
(3) Profit making (4) capacity building

Frefetan § & #-w M-wed dea (wiosftosite) =1 Tiva Td 27
(1) gEH FEHI (2) s 1 fwi

(@) = we F (4) e w1 FEi

Mohan is the brother of gohan and Ram is the father of Mohan. Krishna 1s the
brother of Shyama and Shyama is the daughter of Sohan. Who is the uncle of

Krishna?

|1} Mohan (2) Sohan (3) Ram . {4) None of these

ﬁﬁ,ﬁrﬁﬂﬂﬂ%#ﬂM,ﬁﬁﬁﬁWElﬁ,ﬁmﬁﬂﬂ%ﬁhmT
w#gﬁirwmaﬁlmt?
(1) A (2) e (3) T (@) @ § FE A

24
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Which social reformer devoted himself to the cause of widow remarriage and
education of women?

(1) Bwami Vivekananda

[2) Rabindranath Tagore

(3] Bankim Chandra Chattapadhyay

(4) Ishwar Chandra Vidyasagar

fem e gurs A foua yAfdam o oi-foan & o = A oo = g o

(1) = EE (2) =y A
(3) #fEm 93 =Fmam (4) $racas fremam

The group, where ‘we feeling’ is found to some extent and individuals live in a
definite territory, is called

(1) social organization (2] social structure
(3] community (4] committee

m,hﬁ@mﬁ‘mﬂm'mﬂmtmm fifvam w-
w £, 7 b S e

(1) WEINE WS (2) IR G (3) e (4) =iy

By which method of social work services are not rendered to the individualsy

(1) Community Organization (2) Bocial Group Work
{3) Social Wellare Administratign (4] Social Casewory

25
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miaEE # R TR F g ol B deE Tl ww o b
(3] & S S (4) Tt Sufte S

62. Which of the following are not methods of social work?
(A) Social Casework (B} Social Group Work
(€} Family Welfare (C} Counselling
Choose the correct answer with the help of the following code :
(1) (A) and (D) (2) (D) and (C) () (C) and (D) (4] (A) and [Q)
frafufigs § & F1H-w awewd H ogRE a6 &1
(A) T dafes dar (B) T e e
(C) e s (D) T
4 22 %e # ERa & wh IW F TH AN
1AM E @ @ME @ OMD (@ @R

63. Which statement is more close to define social work profession in modern

context?

(1} It iz a problem snlving process
(2) It is a helping process based on religious philosophy

(3) Itisa intervening process of individuals and his milieu to maximize social

functioning
It is @ process of creating awaren
sted in their milieu

(4) ess in individuals and making them

adju

26
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smafi wed i WR-m e wwemd sgEgE @ ienRe w9 % it e 0
(1) T8 TF HOE GHEA H gEEN R
(2) ¥6 WitE 2@ W oA o wEwa shea d

(3) 7® =ifs o whaw % @g wedTw f vE wiEw R ofs aiE sl
TEET W HE

(4) 78 @ § wveem @R 3R 3E T uf@w O unlem e oW # TE
i &

If the seventh day of a month is three days earlier than Friday, what day will it
be on the nineteenth day of the month?

\Y) Sunday (2) Monday (3) Wednesday (4] Friday

@ TN F A R pEn @ R v w2, aRem B o
feq = gm?

(1) TeER (2) HimER (3) =R (4) TwER

Which one of the following is the goal of social work Profession ?
|1) Eradicating poverty and diserimination

|2} Bringing social and political stability

(3) Bringing socic-economic progress

(4) Preparing individuals to be self-reliant

27
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Ii"ql%'ﬁ!ﬂ ﬁﬁﬂq_ﬂ'mmﬂaﬁt?
(3) armfrm—ails T @
(4) sl A e T % R A

66. The concept of human dignity and worth implies :
(A) Right to be respected
(B} Mo discrimination among individuals
(C}) Evcrjfﬂne has certain basic needs
(D} All individuals have equal opportunity to meet their basic needs
Choose the correct answer with the help of the following code
(1) {A) and (B} [2) (C) and (D)
(31 (A}, (B), (C) and (D] (4) (B}, (C) and (D)
s i wd A @ sEwnen # s L
(A) wlE € F SR
g) =t & dgaE F A L

C) T S 6 FS g S 8
lﬂlﬂﬂﬁﬁﬁﬁmwwsﬁﬂﬁwﬂﬁﬂwmm%

ﬁ%ﬁﬁmﬁmmmmm
(1) (A) # (B) 2) () 3 (D)
al @), 8, © P 4) [Bl, (C) ¥ (D)

28
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The concept of charity developed ;
(A} To help the poor to meet the basic needs

(B} To strengthen religious organizations

(C} To support beggars

(D) To fight exploitation
State what is correct
(1) (A) and [B) (2) (A), (B} and (C)
(3t {A) and (D) (4) {A), (C) and (D)
T R smarm w1 e gan

(A) Pl ®i Tt qevm SEwEEmE B W w0 % fw semm o

(B) =TS HAl W wIE wE

(C) franfat & gz #e

(D) W % fieg dud wom

A T 2
(1} (&) 3k (B) (2} (A), (B) 3 ()
(3) (a) 3t (D) (4) (A), (C) ¥ (D)

Which of the following is not a value of social work?

(1) Uphelding the dignity of the individual

(2) Building of self-reliance

3] Accepting of uniqmlu ::'ha.t‘ﬂﬂi:':':rit-ttics of diverse Poruation
(4) Commitment te religious doctrine

29
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Frfafas 4 & #h-m waeEd w10 T 87
(1) =l & ggm = wgE1

(2) @A w1 Bain s

(3) foam =i # e W iwen

(4) ffs fagrl & sl i

69. Professional social work docs not advocate
(1) legislative interference in solving social problems
(2) giving alms and charity
(3) to organise efforts to overcome social problems
(4) developing a system of social training
sy T awen JE w8
(1) mﬁmaﬂﬁi:ﬁ%ﬂfﬂﬁﬁiﬂhmﬁ
2) fo stk 2@ T B |
AT TR & EME g iea S #
o il B e & R 6

(3)
()
the following is not the consultancy role of the social worker for solving

70. Which of o
the prublr:mf'-

(2) Facilitator
(4] Convener/Mediator

(1) Enabler

(3) Planner

(168)
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fr=fafem & | @9-m wenat & wow ¥y ol wRwa § we f g
W R7

(1) AewE (2) gl (3) Pt (4) EE=S, T

The Saansad Adarsh Gram Yojana (SAGY) was launched on the birth
anniversary of

(1) Ram Manchar Lohia

(2] Deen Dayal Upadhyay

(3) Lok Nayak Jaiprakash Narain

(4) Acharya Narendra Dev |

|EE AWH M g e wiges W B mng

(1) T W e (2) ¥ T TR
(3) % E FEYHY T (4) @ T 23

If it wag Saturday on 17th December 2002, what wag
4 the da
December, 2004 7 Fmaie

1) Monday (2} Tuesday (3) Wednesday

\4] Sunday
afd 17 Fmwn, ﬂﬂaﬂﬂﬁﬁrﬁﬂnm,a‘rzzﬁw,iWﬂm-mﬁqw
(1) HiEn (2) AR (3) guar (4) Iﬁm

3l
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73.

T4,

What was the main objective of establishing the Brahmo Samaj?

(1) To cure Hindu religion of its rituals and lay emphasis on reasoning
(2) To check conversions from Hinduism to [slam or Christianity

(3) To end the Sati practice and advocate widow remarriage

(4) To obtain a respectable position for women in the Indian society
wEl T ) T W Oqe ST 1 47

(1) feg i % wlwwel # g w0 o wil fdw w s A

(2) feedll &1 g A g W H S W U T

(3) wft wen =t T w3 v idar f swem w9

(4) e wE A AR B gweseE T e

In what way Gandhiji started his Civil Disobediance Movemnent?
(1) Asking people to make bonfire of foreign goods
(2) Offering Satyagrah
(3) Asking pcople not to pay taxes
(4) Leading a March to Dandi and violating Salt Law
el 3 s R omwW R fee w0 A e R
(1) Pyt awgatt T % o @il = seefed T
2) HEE ¥ fm ¥fE =
R % f Wl =
e g WO S AR W
32
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Match List—! with List—II and select the correct answer by using the codes
given below the Lists :

List—I List—II
ja) Reservation of Scheduled Castes and i) Article 330
Scheduled Tribes in Panchayat
{b) Reservation of SC and ST in Nagar Palika (i) Article 332
e} Reservation of SC and ST in Lok Sabha (iii) Article 243T

(d) Reservation of SC and ST in (iv) Article 243D
State Assemblies
Code :
B -1 (b} [c) (d) (=) (b) () (d}

G @ (iv) {2) (v (@) i) fri)
¥y Gvy (i) _ ) G (4 () fiv) (1) [i1)
TH—1 F g1 ¥ gifem AR o gfdt & M R M 5 D g @ w6
IW T T S
o | a1
(a) vERE # sl wfa @ e SR O ama (). *F=¥z 330
(b} FrnfeEAl § A 9 vE smmim s () s 332
H HARE : :
() s & srpgfen T o s SR W swem (ii) odE 2437

[dj.mi‘éltgumﬁﬁ I Wt @ e (iv) 3757 243D
- T4
@ ® ({4 (@
(1 @ M W G 2 v (i [T f.'.ﬂ
& 1 N 117 R 1 N S N ::}"

33
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T7.

T’E'I‘

79.

|168)

Kailash remembers that his brother Deepak’s birthday falls after 20th May but
before 28th May, while Geeta remembers that Deepak’s birthday falls before
22nd May but after 12th May. On what date Deepak’s birthday falls?

(1) 20th May (2) 21st May
(3) 22nd May [4) Cannot be determined

S e w2 fF Tos wd duw oW e 22 W OF AR i 28 W % R
e 2, afE i AR w2 5 O W owmRe 22 W ¥ TR 9Fe 12 W S
a7 9EA 2| dve w1 St few B oa?

(1) 20 (2) 21
(3) 22 #§ (4) Pt & e s

What will be the difference between the sum of the odd digits and the sum of the
even digits in the number 8574327

maswzgﬁmaﬁﬂqﬁmaﬁ%ﬂﬂﬁWMM?
1} o (2] 1 (3) 2 [4) 4

How many times will you write even numerals if you write all the numbers from
291 to 3007

rfégazg:#ﬁﬂﬂﬁﬂ?ﬂﬂ%ﬂﬂﬁ,ﬁfﬂﬂ#@aﬁﬁmaﬂ%ﬂﬁ?
1y 11 (2) 13 (3} 15 (4) 17

When Unorganized Workers' Social Security Act was passed, for formutation of
gocial Secunty Scheme?

WWWW&@%MWM 1 gl gen s w
i fen T

2006 (2) 2007 (3) 2008 (4) 2009
(1
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In India, which organization collect the data regarding unemployment and
publish that?

(1) TRYSEM (2) Finance‘ﬂﬂmmissiun

(3) National Sample Survey (4) UNO

o ¥ FH-E W A @ oAlRE @ wm f ok ) wefim w22
(1) Zram (2) P s

(3) Y o B (4) ToToae

Which method of settlement of industrial dispute was advucatad by V. V. Giri in
India?

(1) Conciliation (2} Compulsory Arbitration
[3) Adjudication (4] Voluntary Arbitration
Wﬁmm%ﬁﬁmﬁﬂ?‘mﬁﬁﬁMﬁﬂaﬂnﬁﬁ#ﬁqm

Ty

1) §em (2) er faareq (3) arfifnf 4) A S

After Independence of India, which State took imtta

tive Lo
establishment of Gram Panchayats? 0 pass legislation for

(1} Uttar Pradesh (2} Andhra Pradesy,
{3) Madhya Pradesh (4) Rajasthan

35
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wAa i I % TN (e Usa 3 TW vaEEl @ oen ¥ f wEwem
ELiL kg

(1) I W (2) FEELH (3) weAwEw

(4) TEYH

83. The Equal Remuneration Act, 1976 provides

(1) Equal pay for equal work irrespective of nature of work
[2) Equal pay for equal work of similar nature of work

(3) Equal pay for equal work in organised sector only

(4) Equal pay for equal work in selected categorics of work
R Tifs afafm, 1976 # WaEuE R

(1) wd # vFh #= am § @ fen g el & R gEe it
2) mﬁg@:ﬁlﬁiﬁﬂf%ﬁﬂﬂﬂﬁﬂﬁﬂmmm

) v w4 § R & R e
;43%M#mﬁﬂmm%ﬁﬂmwﬁﬂﬁﬁ

g4, When Rashiriya Swasty Bima Yojana for BPL (Below Poverty Line} familics in
unorganised sector was launched?

(1) 2nd October, 2007 (2) 2nd November, 2007

.18 October, 2007 (4] 14th November, 2007

36
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wﬁmmmﬁmﬂﬁﬁqﬂaﬂ%ﬁnm&ﬂﬁﬂm

forar T ?
(1) 2 I@gaR, 2007 (2] 2 TE=, 2007

(3) 1 ¥R, 2007 (4) 14 J=&E, 2007

Which institution is not related to juvenile delinquents under Juvenile Justice
(Care 8& Protection of Children) Act, 2000 7

(1] Special Home (2) Observation Home
(3] Children Hame 4] Juvenile Court

F-d wwn feR mw (S=1 f ¥e-tm o geam) wWwBem, 2000 F sed
s feanl @ weafam adf 47

(1} fr e (2) THEN TR (3) =mE TR {4) v —rEres

Which one of the following services is not Social Welfare Services?
{1) Maternity and child welfare

[2) Scheduled tribes welfare

(3) Widow pension

(4} Communication and transportation services
Frferftrn gareit # @ =i-ff @ wem @ A 27

(1) g T firyg s (2) R T
(3) favar TW (4) TSR W T S

ar
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87.

88.

(168

National Scrc'%a-.t Assistance Programme (NSAP) comprises various national
schemes. Which of the following is not taken?

(1] Indira Gandhi National Old Age Pension Scheme (IGNOAPS|
(2} Indira Gandhi National Widow Pension Scheme (IGNWPS)
) National Fomily Benefit Scheme (NFBS) Annapurna

(4] Swadhar Scheme

T Tl mEme weEn (Houmeustie) i Uty Awwial wi AwEE W 3
Fafafes 4 8 Sh-oh oo s o 27

(1)@= T wgE gg TR aree (s oslewost snotonms)
0y == i uﬁm fowan tym dren (ad osflamozam] oot a)
(3) v ufEn R I (WeUGodlotde) sy

(4) TEmm T

Which statement does not apply to the Council for Administration of People's
Action and Rural Technology (CAPART) ?

(1} It is an autonomous Orgamzation

(2) It gives employment to rural youths
(3) It propagates appropriate technology for the benefit of rural people

]
(4) 1t promotes voluntary action through community participation

38
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i (Hogeftenonmedto) & waftm w-m wu7 wd o 27

(1) q® o w6 q R

(2) ¥® it ganail # dem 2 R

(@3) = i F0 F Re % R e AP = s o 2

() T wfeew fr 1 ol wewi ¥ o Seha w2

wm;h principle asserts the grant of franchise to women on equal terms with
Ten:

(1} Principle of Civil Equality (2) Frinciple of Political Equality

(3} Principle of Natural Equality (#) Principle of Social Equality

FH-m frgr oftenst = get ﬁMmMﬂmﬁwmgr
(1) Tl o = fagen (2) TSR W 7 forg

(3) wEfew vuma =1 g (4) SIS T W g

Bharat Nirman Yojana is concerned with the developm
: : : ent of
Infrastructure. Which component is not included in the Yojanap s

(1} Housing (2) Electricity
(3} Irrigation (4) Cottage industry

A P W e (SRR) s S 3
st F e st o 37 =

(1) am 2) g () Frars

:-h-m#mm

) F wim

P.T0)
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91. Integrated Rural Development Programme (IRDP) started in all Community

01.

Development Blocks in the year
Wﬁmwﬁﬁwmmmﬁﬂﬁmwrm?
(1} 1975 (2) 1980 (3) 1982 (4) 1977

Which of the following is not the objective of Jawaharlal Nehru National Urban
Renewal Mission [(InNURM) ?

(1) Community participation
(2] Empowering women in urban arcas

(3] Focusing upon the efficiency in urban infrastructure

(#) Accountability of Urban Local Bodies

St § # WA JaEerE dew aEd e frem (R oToTA o Ao WHe) &
v 7 B7

(1) T SEAT!
gzamrﬂuﬁﬁﬁﬂﬁﬁlaﬁwm
;3;mﬂﬂmmm{saﬁrﬁﬂ}ﬁmm
) miva Tarit T &1 S

Which of the jollowing attributes does not suit to cxplain social insurance?

(1) Contribution of employee
(2) As a right of workers

{3y A responsibility of Government to give support to workers iacldnia
halance proportion between injury and contribution

40
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Frefifign § @ +h-d foirwen wfs dm A we w9 30w @ R
(1) #fml =1 e

(2) el &1 o% s

(3) swaTE afiEl B OEER g wEE 3 w1 Iawiae

(4) stfem ol sem & 3w aum

When Pradhan Mantn Jan Dhan Yojana (PMJDY) as a National Mission for
Financial Inclusion, was launched

(1) 15th August, 2014 (2] 20th Augast, 2014
(3] 2nd October, 2014 (4) 28th August, 2014

w fadm ofaewm % Bm oufm R % W9 WOl & ww o
(ftomHoR oZtourdo) = yHrw i 7T

(1) 15 =Fma, 2014 & (2) 20 3=, 2014 =t

(3) 2 ¥EE, 2014 F (4) 28 3FFE, 2014

By which Ministry Pandit Deendayal Upadhyay Shramev Jayate Karyakram is
being implemented?

(1) Ministry of Micro, Small and Medium Enterprises
(2] Ministry of Panchayat Raj

{3} Ministry of Labour
(4) Ministry of Human Resource Development

41
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96.

97.
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fon Wt g e dare T wiE I FEEn B Rl R
(1) 959, ¥4 1§ T W A3

(2) TEEd T A

(3) g

(4) wa v fawm AT

What activities would not be taken under the ‘Beti Padhao Abhiyan’?
(1) Aetivate School Management te ensure universal enrolment of girls
(2) Completion of Kasturba Gandhi Bal Vidyalayas

{3) Construction of girl’s toilets

14) Construction of school buildings
W g wfimE’ % sArla B e 1 o ofmRe B sEmy

(1) Wfermiall F1 = T # gREE $0 F e e = = e
(2) Fran Wt W= Few ol s

(3) wefrai & fod iemeE swaE

(4) T vl @ A

Logically and also under Fundamental Rights of the Constitution, children of
which age can not be appointed in factories and other hazardous jobs?

(1) 12 years (2] 14 years (3) 13 years (4) 16 years

42
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ﬂmmﬂq&ﬁﬁmﬂ:mm#mmm%iﬁﬁ
war S wfem Wl § Jwnem T fen W awm 27

(1) 12 =d (2) 14 =d (3) 13 =i (4) 16 of

What is meant by social development?

(1) Modernisation of social system .

(2] ‘Better relationship between different communities and classes in the society
[3) All-round development of society

iljmhaaﬂamw&ﬂgﬁﬁwr

(2) T R fofim wqerl s o § dw o wy
(3) w9 w1 wahin fawm

14) Feam www v dmet w e

Which UN Agency helps the developing countries to
Producing capacities of their natural and human resourcegy

(3] UN Development Programme (UNDP)
(4} International Monetary Fung (IMF)

43
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m—miamumﬁmnﬂﬁﬁﬁﬁmﬁﬁwﬁmﬁ@mmﬁﬁ
g IR gW e 6w R § s 27

(1] TECHFE WA HAEE (3 ouhorfte)
(2) Yoo FERZAE THemHe AR (gowroaTd eflodite)
(3) oW BITT= TUW mn"!."fnﬂu‘ﬂn]
(4] FeRAIFe Hidie T (e uHeTHe)

100, Psychoanalytic theory about human personality was proposed by

(1) Carl Jung (2) Alfred Edler
(3) Sigmund Freud (4} Skinner
o frem ¥ A § e fugr sRiia fe
(1) el 1 3 (2) HE TEeR o
(3) femwe wHE 3 4y e 3

W

68, —1700
a4 D/6(168)
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11.

13.

13.

14.

mgﬁmﬁa&%mh%wﬁ%ﬂﬂﬁmﬁﬂﬁmﬁﬁmﬂfﬁ
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m-wtmgmiﬂﬂmmﬁﬂfﬁnmﬂmwﬂfﬂqﬁﬂﬂwmil
ﬂ—wﬁmﬁﬁuﬂmqﬁaﬂﬂmmﬁzmmm“ﬁmmﬂ|
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aﬂinﬁmﬁﬂﬂﬁiﬁqﬁﬂﬂﬁﬁﬂwwmﬁﬂﬂmaﬁﬂmquﬁﬂﬁﬂwamﬂﬂ
Wﬂﬁmil;ﬂ‘n.

m—gﬁmﬂnﬁmmﬁ;mhﬁﬂmﬁﬂwﬁmmm#hﬂwﬁm%mﬂMHﬂ-
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s B

:ﬂﬁmﬂim%ﬁﬁﬂmﬁqﬁﬂqﬂﬂm!ﬂlqﬁﬂ s g W Mg WO W A OE
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